XYZ,=98.07,100.0, 118.22

B,=258, (b,-b,) Y
3= a5 [ (X=X ) /Y
by=byl[z/§
a,=1,b,,=-0,4
X.=0,110,B_ = 0,700
Crar=AS+B1™2

6 OstwaldFarben (o)
von maximalem (m)C,g (R4
" Y
linearen Farbenraum (Cyg . Y) 3£

Lichtart C00, Y,,=100 Y,=25 Ll S

T
Name Bereich X, Y,

Ky Yy A A
R, 567_775 7045 5448 28.71 ‘04555 03523 566 D0

Y, 492_775 8338 9554 34.86 039 0.4468 571 463
G, 492_567 3754 66.15 34.83 02709 04775535 5350
C, 380_567 5225 70.63 118.210.2167 0.2929 487 596
B, 380_492 39.32 29.58 113.060.2161 0.1625 463 571
M, 567_492 8517 58.96 113.000.3311 0.2202 535¢535
W, 380_775 98.07 100.0 118.220.31 03161 100%
N, 380_775 2451 250 2955 031 03161 25%
7,380 7751765 180 2128 031 03161 18%

Parameter:

Y & Name
Lichtart COO
Y,=100 Y,=25
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